
SECTION II TM 55-2210-224-24P

Figure 3.  Cutter Levers.



SECTION II TM 55-2210-224-24P

GROUP 01 BODY GROUP

FIG 3 CUTTER LEVER

1 96906 MS90725-158 SCREW, HEX HED , 5/8 X 1 IN. 12
2 96906 MS35338-50 WASHER, LOCK 5/8 IN 12
3 BRACKET 6
4 24446 172X32 LEVER W/STOPS LEFT HAND 1
5 24446 172X31 LEVER W/STOPS, RIGHT HAND 1
6 96906 COTTER KEY, 1/4 X 2 IN (NSN 5315-00-209-7273) 1
7 PIN - LIFTING BAR, 3/4 X 2 5/8 1
8 96906 MS51967-09 NUT, HEX, 3/8 2
9 96906 MS27183-14 WASHER, LOCK, 3/8 IN 2

10 96906 MS90725-67 SCREW, HEX, 3/8 X 2 1/2 IN 16-UNC 2
11 RETAINER BLOCK 2
12 24446 6741987GZ LEVER, UNCOUPLING, CENTER 1
13 CLEVIS 2

END OF FIGURE

(5)

QTY

(4)

DESCRIPTION AND USABLE ON CODE

(2)

FSCM

(3)
PART

NUMBER

(1)
ITEM
NO.

3-1


